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2. X|& Skimming & Summary

o M AHE MY Al XAIFE ASZE|= evidence
1) Historical records
2) Linguistic analysis
3) DNA similarity
4) Food / Animals / Life style

% YIEA| HOIB|oF g B

1) ancestor / descendent 2f= EHO F=

2) historical recordOj Al KA|El GAE AtQ| M= 2 O RIFO| HE A &=

_I

3) &Aoo FAHE / Aol 29
4) REH FAEL 7IE0ILE B8 BEol M3
5 LRIAZ L2 BFO0|L BFQ| 0|F 726, native peoplellt invaderE Z OjX|ohCt

Reading Passage Note-Taking

Historically, the British Isles were invaded by many foreign forces

such as the Celts, the Romans, and the Angles and Saxons. In light
o o o Anglo-Saxon

of this history, it is easy to see why it is unclear whom the people
) ) : ancestor of M.

of England are descended from. However, there is strong evidence

English
that points to the Anglo-Saxons as the ancestors of the majority J
of modern English people.
XNEFH: ot =252 422 Mo =&0[CL
= In this set of materials, both the reading and the lecture deal with keyword the ( )

of modern day English people. The lecturer challenges the reading passage's argument that

they are ( ) from Anglo-Saxons.
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Reading Passage Note-Taking

To begin with, historical records show that the movement of the o
- historical rec.
Anglo-Saxons to the British Isles was a resettlement. They left
i ) ) ) : move from G
their former homes on the mainland in what is now Germany and

— Eng.
Denmark and came to England, which was inhabited by Celtic ) klg
uic
tribes. Written accounts from around that time give the k /
overwhelm

impression that this wave of immigration quickly overwhelmed the
— Celts retreat

to Wales.

Celts and forced them to retreat into what is now Wales and

Scotland.

RL: @Alel 7|F0| =2H / =22 ME&E2 HEE0| RENM =22 0|4

o, AE AFUS WA L=k AGSCH

- First of all, the reading insists that the written records of that time states that the majority of

Anglo-Saxons migrated from Eroupe to English, quickly ( ) the native Celts.

A simple comparison of English with Welsh or Gaelic, both Celtic
tongues, clearly shows how drastically different these languages
are. As the Anglo-Saxons exerted their dominance over the island,
their language replaced those of the Celtic peoples. This linguistic
shift increases the likelihood that today’s population came from

the Germanic invaders.

Reading Passage Note-Taking
This is further supported by the fact that English developed from
the language of the Anglo-Saxons and not the earlier Celts. English

developed from

language of AS.
: dominate

— replace Celtic

language

R2: oiff golet =2 =M20 Zto] RAHHO| 2O &=Lt /

(similarities/demonstrate/dominance/replace A with B)

=2 MEF0| IF0M M0l EAOE Aol 2A0{= CHHMSHRAL.

- Second, the author maintains that the (

) between modern English and the

Anglo-Saxon language (

) that Anglo-Saxon's dominance in Bretain (

) the

native language with their language.
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Reading Passage

Note-Taking

Even more conclusive proof was gained by studying the DNA of
people living in several villages in eastern England. Their DNA was
compared to samples from modern people with Celtic and
Germanic backgrounds, and it was found to be almost identical to
that of people living in the areas where the Anglo-Saxon
migration began. This provides inarguable proof that the people

of modem-day England are more closely related to the Anglo-

Saxons than to the original Celtic population.

DNA in Eastern
English

- identical to

ppl areas A.S.

migration began

R3: DNAZIAFZTIZ 98l bt / SX) Q2 of= X|Yo| Ak AFRISO]
1o 7o =5t DNAE 7K1 QUL

(DNA test result / indicates / identical to ~)

OoH

= A
=EIRVES

It

> Lastly, the article contends that a DNA test result indicates that people currently living in

a region of England have DNA almost (

) ( )

the Anglo-Saxons.

Z9 os
Reading Lecture
o Anglo-Saxon N
main idea ] Anglo-SaxonQ| Z & OfL|LCt.
: ancestor of M. English
historical rec.
: move from G — Eng. L
1 . SIAE 7|20| 5 reliablest 242 OfL|Ct.
quickly overwhelm —
Celts retreat to Wales
English developed from
) language of AS. AHOO| QAFMO| HIEA| BE
: dominate — replace C HS MYHSIX| ZohCt
lang
DNA in Eastern English
) ) EasternO|2t= HMES =2
3 : identical to ppl areas AS.
o — Some # All
migration began
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- The record/ evidence is believed to be unreliable in that S V.
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- Just because (of) X, that does not automatically mean S V.

- This does not necessarily lead to the conclusion that S V.
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= This theory fails to provide an explanation that encompasses overall cases.

- This sample cannot be an accurate representation of / indicator to the entire one.
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Lecture

Note-Taking

I trust you read the article I sent? Although much of the historical
information included in that article is factual, the conclusions that
the author drew from his examples are far from accurate. It is more

likely that the most of the population of modern day England are

descended from the Celts whom the Anglo-Saxons subjugated.

descend from Celts
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O G=Qls2 d=2 M&Z0| ot AEZFO F&0|C}

= In this set of materials, both the reading and the lecture deal with keyword the ancestry of

modern day English people. The lecturer challenges the reading passage’s argument that they

are descended from Anglo-Saxons, saying that they are (

) of Celts, not

Anglo-Saxons.

Lecture

Note-Taking

The author is correct in asserting that the Celtic people were
invaded by the Anglo-Saxons. However, the sources that the author
mentions were written by the invaders, who had no way to
accurately gauge the number of Celts living in the British Isles at
that time. Instead, modern historians believe that the Anglo-Saxon

population was dwarfed by the native Celts after the Battle of

the source written
by invader :

X accurate no. C.

ML} (outnumber)

) o ) ) ) — native C > AS.
Badon Hill. So, it is unlikely that the Celtic population could have
been so completely forced out.
L1 HE + (MS#1) O 7|Z0| HEXS0| QlshM AR Ch= FOM Malg = QA

Ol AZICH Atd OfH HALH MAS 0|22 AEZRO| YEASEL +H2Z A
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- The professor refutes that argument by saying that the records are believed to be unreliable

in that the accounts were written by the invaders. In fact, after a historical event, the Celts

( ) their invaders.

Lecture Note-Taking

He also cites the fact that the Anglo-Saxon language became the

language of the realm as further evidence of population R
oman
replacement. When one culture becomes ruled by another, its )
) o : adopt Latin lang.
people will often adopt the oppressors’ language. This is clearly
#
demonstrated by the expansion of the Roman Empire. As various )
) ) x replaced by Latin
cultures around the Mediterranean were absorbed by the empire, .
ancestr
they adopted Latin as their new language. However, that does not /
— X replaced by

mean that their population was replaced with people of Latin AS

ancestry, nor does the adoption of Anglo-Saxon mean that the

Celts were replaced.

2. §E3 + (VS #2) 0|H0| Y22 M2O0|S ALBSHE AFRE0| MRZ Y22 M2E
Z:

[ = —1
1202 O[ofA|X| YECh o M| Tajy, WEZ0| WKl 910jS
=]

= 2
OIS AS FOICE / 2HEIO7) 20HN= TN ArEEAT AKX E. (adopt)

- The speaker rebuts this claim by asserting that this does not necessarily lead to the

conclusion that the people using the Anglo-Saxon language were in fact Anglo-Saxons. Rather,

the Celts merely ( ) the language of the invaders, just as ( ) was used

throughout the Roman Empire.

Lecture Note-Taking
In his final example, the author cites a DNA study, but I have Only small region
doubts about the way in which the study was carried out. The study — X accurate
was conducted in one small region of eastern England. Since that sample
region is close to the European mainland, it is not surprising to find — diff parts
a strong Anglo-Saxon influence there. However, it is unrealistic to — resemble
assume that such a small, localized sample could give an accurate Celtics.

9
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representation of the genetic history of the whole nation’s
population. Indeed, other studies conducted in different parts of

the country have shown much closer resemblance to modern Celtic

people.

= In contrast, the lecturer counters the contention by stating that this localized sample cannot

be an accurate representation of the entire population. He also states/mentions that there are

results from the other studies in which people living in modern-day England have DNA that

closely resembles modern Celts.

6. Paraphrase

1) Written accounts from around that time give the impression that this wave of

immigration quickly overwhelmed the Celts and forced them to retreat into

what is now Wales and Scotland.

= The written records of that time states that the majority of Anglo-Saxons migrated from

Eroupe to English, quickly overwhelming / outnumbering the native Celts.

2) Instead, modern historians believe that the Anglo-Saxon population was dwarfed

by the native Celts after the Battle of Badon Hill.

- In fact, after a historical event, the Celts outnumbered their invaders.

10
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3) The adoption of Anglo-Saxon does not mean that the Celts were replaced.

- This does not necessarily lead to the conclusion that the people using the Anglo-Saxon

language were in fact Anglo-Saxons.

4) It is unrealistic to assume that such a small, localized sample could give

an accurate representation of the genetic history of the whole nation’s population.

= This localized sample cannot be an accurate representation of the entire population.
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